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I. Read the following passages and choose the best answer. (10 pts)

| Passage A | u\}m&)&f_gﬁ:w\atqssh_@Yé\),stzﬁﬁuns)gs@l\f:\f
How many cups of coffee did you drink yesterday? Where did the coffee come & ey aay el o J8
from? There is a good chance that your coffee came from one of these countries: 5 .43 40 RPN "’f‘f\
Brazil, Colombia, Indonesia, Ivory Coast, or Ethiopia. These five countries produce bl o g} paits

K¥LY
. i , B
most of the coffee in the world today. Brazil produces about half of the world's crop o aan sl (e
of coffee beans. ol e an g 13 el Jai (o gl ¥ GLSLE |l

The coffee plant is really a small tree with shiny leaves. A coffee plant grows for sl alaa | grang (o
about three years before it produces any fruit. After that, it produces fruit for about 40 (u Juesd) e Gy
years. The coffee bean is the seed of the fruit. 20 G sl (e 52350 40 S,

It's difficult to pick coffee beans. Machines can't do it well, so people pick most 3., 5 Al 3y )
of the coffee beans by hand. Workers typically pick between 20 and 40 pounds of  jla&Y) chas il Y

coffee beans a day. Dsshll e 58S £l Y Loagl i) ity Guadill (e ol s o Jlasy) UMSM
The old way to grow coffee plants is under large trees. The trees protect the Apnall g ) 5al A

coffee plant from the sun. The trees are also home to many kinds of birds. On many J}*‘m‘ Osrbady ?4‘3.‘ &
modern farms, however, farmers cut down the trees. They grow the coffee plants ° ol s 058 ped
under the sun. Large farms can produce more coffee this way. &JU‘_M s puedd
Ay el 3 Ol G LS 5 (f 8,
1. Which country produces most of the coffee today?
prazl el ol e dpeene S| Al
B. Indonesia
C. lvory coast
2.How many years it takes a coffee plant to start producing coffee beans?
A. about 2 years €l e iy S s Lgaling S ol sl aae oS
about 3 years
C. about 4 years
3.For how many years does a coffee plant produce coffee beans? o san all il i A oS
A. for 20 years
(B for 40 years
C. for about 40 years
4. Why do people pick coffee beans by hand? $G 51 ol sn el e DY
A. Because it is faster to do it by hand.
Because machines can't do it well.
C. Because it is cheaper.
5. What is the old way of growing coffee plants? ol il de) ) 3 Aaadll 45l oo
A. under the sun
B. in modern farms
under large trees

Passage B

In the United States, you probably shouldn't ask the question “How much money
do you earn?" Many people think that their salary is private information. However,
you can find out the typical salary for different jobs on the Internet.

What are the best -paying jobs? In the United States, doctors, dentists, and pilots get
the highest salaries. Why is that? Maybe it's because it takes many years of study to
enter these professions. Which jobs pay the lowest salaries? All the lowest-paying
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asoliman2
Typewriter
كم كوب قهوة شربته أمس؟ من أين يأتي البن؟ 
على الأرجح يأتي البن من البرازيل، كولومبيا، 
إندونيسيا أو الساحل العاج.  هؤلاء الدول تنتج معظم
 انتاج العالم من البن. البرازيل تنتج تقريبا نصف محصول العالم من البن

asoliman2
Typewriter
نبات البن عبارة عن شجرة صغيرة بأوراق لامعة. يأخذ بنات البن تقريباً ثلاث سنوات 
قبل أن يثمر. بعد ذلك، ينتج 
الحبوب لحوالي 40 سنة. و
تستخدم الحبوب  نفسها 
كبذور.

asoliman2
Typewriter
من الصعب جمع حبوب 
البن . فالماكينات لا تستطيع أن تفعل ذلك، لذا توجب على الناس 
أن يجمعوا معظم الحبوب 
يدوياً. يجمع العمال بين 
20 إلى 40 باوندز من الحبوب يومياً.

asoliman2
Typewriter
الطريقة القديمة لزراعة 
لالبن كانت تحت الأشجار 
الكبيرة. الأشجار تحمي نبات البن من الشمس. وتعتبر الأشجار أيضاً بيت لأنواع كثيرة من الطيور. 
في المزارع الحديثة، 
مع أنهم يقطعون الأشجار. 
فهم يزرعون بنات البن في 
الشمس. وتسطيع المزارع 
الكبيرة أن تنتج الكثير من البن بهذه الطريقة.

asoliman2
Typewriter
أي دولة تنتج أكثر محصول من البن اليوم؟ 

asoliman2
Typewriter
كم عدد السنوات التي يحتاجها نبات البن لكي ينتج حبوب البن؟

asoliman2
Typewriter
كم سنة تنتج نبات البن حبوب البن؟

asoliman2
Typewriter
لاماذا يجمع الناس حبوب البن يدوياً؟

asoliman2
Typewriter
ما هي الطريقة  القديمة لزراعة نبات البن؟ 

asoliman2
Typewriter
في الولايت المتحدة ربما لا يجب أن تسأل كم تكسب من المال؟ الكثير من الناس يعتبرون أن رواتبهم شيء خاص. على الرغم أنه يمكن معرفة رواتب الوظائف المختلفة من خلال الانترنت.
ما هي  الوظائف التي تتقاضى أفضل الرواتب؟ في الولايات المتحدة, الدكاترة، ودكاترة الأسنان، والطيارين يحصلون على أعلى الرواتب. لماذا ذلك؟ ربما لأنه يأخذون سنوات طويلة من الدراسة للحصول على هذه الوظائف. أي الوظائف تتقاضى أقل الرواتي؟


sastall Y sl & il gl J8F e oy shoany JA 5 g yuadl an k) aclng b cpaliball alalally Jas 5 Jadiall sl g ) <l Cailla gl aen

jobs are connected to food. Cooks in fast- food restaurants and waiters get the lowest
salaries in the United States. Jias3 «aillasll (o ,iSI 8 el o & saull b 43 (3 5 ) 1 ¢ oabally
Falad) ¥l Janll Conln Gl by A 530 300 21 4 ¥l | cayy caill e
Of course, your salary is not just the money you earn every week or month. In 5 jla¥1 5 auall (uelll o
many jobs, you get a salary and benefits. Benefits are the extra things your employer <Yl <l )l de sira
gives you. Common benefits are health insurance and paid vacations. Benefits equal < e %025 Go s
about 25% of an employee's salary. For example, a person with a salary of $40,000 JEll s o byl

. i 4l Al pasdll
] ' v .
plus benefits is really earning about $50,000. That's a lot of extra money! 40000 &S <Yl 1 dlaal Y g0

Sy Il e LS 138 L 5Y 5250000 lea),

6. A pilot gets a higher ............... than a cook. ;
A. Insurance gkl e ed il Jllall ualsy
B. benefits
@ salary <l
7. Benefits are given by .................. to workers.  Jead) Glaal ddaud g aad i)

A. employees
® employers  Jaal) sl

C. pilots
8. It takes a long time to become a ................. (il caunds sl S ol G 5 225
dentist  Gliui canh
B. waiter
C. cook
9. You can find out the typical salaries on the................. SO e Aiall ()5l Cayad () ekt

A. insurance

B. professions

@ internet < Y|

10. Common benefitsare.................. and health insurance.
AVl de e lal Paid vacation all Gpalills pad) Ao ne Jla) (S Adall Y
B. car

C. plus



asoliman2
Typewriter
جميع الوظائف ذات الرواتب المنخفظ ترتبط بالطعام. الطباخين في مطاعم الأطعمة السريعة والناذل يحصلون على أقل الرواتب في الولايات المتحدة

asoliman2
Typewriter
بالطبع، ليس فقط راتب هو الذي تكسبه في الأسبوع أو الشهر. في الكثير من الوظائف، تحصل 
على الراتب وبدلات . البدلات هي الأشياء الزائدة التي يعطيها لك صاحب العمل. والبدلات العامة 
هي التأمين الصحي والإجازة 
مدفوعة الراتب. البدلات 
تقريباً 25% من راتب
 الموظف. على سبيل المثال، 
الشخص الذاي راتبه 
40000 دولار إضافة إلى البدلات يكون 
الإجمالي 50000 دولار  . هذا كثير من المال الإضافي.


asoliman2
Typewriter
يتقاضى الطيار راتب أعلى من الطباخ

asoliman2
Typewriter
راتب

asoliman2
Typewriter
البدلات تعطى بواسطة أصحاب العمل

asoliman2
Typewriter
أصحاب العمل

asoliman2
Typewriter
تأخذ وقتاً طويلاً لتصبح طبيب أسنان

asoliman2
Typewriter
طبيب أسنان

asoliman2
Typewriter
تستطيع أن تعرف الرواتب الحقيقية من خلال 

asoliman2
Typewriter
الانترنت

asoliman2
Typewriter
البدلات العامة تكون إجازة مدفوعة الأجر والتأمين الصحي

asoliman2
Typewriter
إجازة مدفوعة الأجر
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Why Do We Yawn? =~ et < hal ol of ot 08 goma 2L

Bears yawn. Camels yawn. Most mammals yawn. Why do we yawn? No uﬂh:LJu;e-\M‘)rjj
one really knows the answer. dﬁ.wﬁﬂb@hﬁﬂ\
We do know that everyone yawns in the same way. First you open your C i \q\.d C;M‘
mouth slowly. Your mouth stays open for about five seconds. Then you quickly sty eLalall _yans
close your mouth. Ay ST elleay il i,
We also know that yawning is contagious, or catching. When you see " culs s Lo
someone yawn, you yawn, too. Many people say that they yawn because they are o t;ai} s
bored or tired. This might be true. However, we know that people also yawn Al as gl S lcac
when they are excited or nervous. A0l o ey 13 Lay ),
Many people say that they yawn because they are bored or tired. This might be ".f_@;} olalall iy ¥
true. However, we know that people also yawn when they are excited or nervous. bl Al 5 3 T
Olympic runners, for example, often, yawn before race. Why is that? alais oot duh | 6‘5 PR

Some scientists believe that yawning makes you more alert. When you yawn,
you breath more deeply. You also stretch the muscles in your face and neck. Maybe
this makes you feel more alert.

Scientists don’t spend much time studying yawning. That is probably because
yawning doesn’t hurt. It is just something we do.

1- The main idea of the text is & s sall Ly Hl1 5,830 & Lo
a- Yawning is contagious. c- People yawn when thy tired.
Many animals yawn, but we don’t know why. 13l Ca i ¥ oSV ¢ sy i) guall (e el

2- When you yawn = iliii Ladic
a- You probably are sad. ¢- Your face hurts.
@Your face and neck muscles stretch. 48, 5 4 5l Clac 2043

3- Olympic runners yawn before races because thy are | 5 <, A Gland) U8 & sl Cpanad V) (plazl)
a- Unhappy. c- Sleepy.
@ Excited and alert. 1y s

4- Scientists says yawning is: & il o o) o) sty o lalall
(S2ra Contagious. c- strange behavior.

b- Not interesting.

5- People yawn when they are: |4 <) Laxie (il al)

a-Tired. w=ia  c-Nervous. i sie
@ a&c
NI bl & lgie Claslas a0 Y (i
2- Write T if the sentence is True, F if it is False and NI if there is no T e o
information about the sentence in the text : Flas s

1- Many kinds of animals yawn. ( T~ ) Catws Ul pall e 5,88 ¢ 15

2- When you yawn, your breathing changes ( AJJ ) luini iy ot Lavie

3- Wen you yawn, your mouth stays open for about ten minutes ( F ) 3983 10 ¢ sibe elad Jlay il Lavie
4- You yawn before the test because you are happy (F ) e oS ey laial) J i
5-Scientists spend much time studying yawning ( Fo) il i o b S iy eladall iy



asoliman2
Typewriter
لماذا نتثائب؟
الدببة تتثائب. الجمال تتثائب. معظ الثدييات تتثائب. لماذا نتثائب؟ لا أحد يعرف الإجابة
نحن نعرف أن كل واحد يتثائب بنفس الطريقة. أولاً تفتح فمك ببطء. فمك يبقى مفتوح لمدة 5 ثواني تقريباً. ثم تغلق فمك بسرعة.
نعرف أيضاً أن التثائب معدي. عندما ترى شخص يتثائب، فأنت تتثائب أيضاً. الكثير من الناس تقول أنهم يتثائبون لأنهم يشعرون بالممل أو التعب. ربما يكون ذلك صحيح. لكن نعرف أن الناس أيضاً تتثائب عندما
 يكونوا مبتهجين أو قلقين.
العدائين في الألعاب 
الأوليمبية يتثائبون قبل 
السباق. لماذا هذا؟ 
بعض العلماء  يعتقدون 
أن التثائب يجعلك أكثر يقظة.
 عندما تتثائب فأنت تتنفس 
بعمق، وأيضاً تمتد
 عضلات الوجه والرقبة.
 ربما هذا يشعرك باليقظة. 
لا يقضي العلماء وقتاً 
كبيراً في دراسة التثائب. 
لأنه لا يؤلم. فقط شيء نفعله

asoliman2
Typewriter
ما هي الفكرة الرئيسية للموضوع

asoliman2
Typewriter
عندما تتثائب

asoliman2
Typewriter
العدائين الأوليمبيين يتثائبون قبل السباق لأنهم يكونوا 

asoliman2
Typewriter
العلماء يقولون أن التثائب يكون 

asoliman2
Typewriter
الناس تتثائب عندما يكونوا 

asoliman2
Typewriter
أنواع كثيرة من الحيوانا تتثائب

asoliman2
Typewriter
T تعني صح

asoliman2
Typewriter
F تعني خطأ

asoliman2
Typewriter
NI تعني لا يوجد معلومات عنها في القطعة

asoliman2
Typewriter
عندما تتثائب يتغير تنفسك

asoliman2
Typewriter
عندما تتثائب يظل فمك مفتوح 10 دقائق

asoliman2
Typewriter
تتثائب قبل الامتحان لأنك تكون سعيد

asoliman2
Typewriter
يقضي العلماء وقت كبير في دراسة التثائب

asoliman2
Typewriter
تتمدد عضلات الوجه والرقبة

asoliman2
Typewriter
العديد من الحيوانات يتثائبون، لكن لا نعرف لماذا

asoliman2
Typewriter
فرحان ويقظ

asoliman2
Typewriter
معدي

asoliman2
Typewriter
متعب

asoliman2
Typewriter
متوتر
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The Date Palm

The date palm is a wonderful tree. People eat dates. They feed them to their
animals. They use the leaves and the wood to build houses. They use the wood to
build boats. They make baskets from the leaves. They burn the other parts of the tree

to cook their food.

The date palm came from the Middle East. Seven thousand years ago, people

t)_)" M\ ("‘J:‘M Q;‘L‘-“M L.)\_)J.A &= dé-\ﬂ ‘)‘9.:.4 \}a_'\m aal
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. . . \ . .
in Syria and Egypt ate dates. They made pictures of date palms on their stone G 5

buildings. Today date palms grow in the Middle East, parts of Asia and Africa,
southern Europe" and other warm parts of the world.
There are more than 2,700 kinds of palm trees. Most of them cannot grow in
the Middle East because it is too dry. The date palm grows there very well.
Hundreds of years ago, people in southern Europe and some Arab countries made
pictures of palm trees and palm flowers on some of their buildings. Today we can see
these pictures in art museums. People think that the palm tree is beautiful. People

thought the same thing a long time ago.

4ol g 5 5 o) ik 1. We can see beautiful old pictures of
dnell caaliall 8 Jaslldlea palm trees ......
i A. in baskets.
(B) in art museums.
C. in boats.
2. The date palm came from ...... .
Lo s 3l e Jaill i @ the Middle East
B. Africa
C. California
3.5. People started to eat dates about

e ol JSB L Gl e, years ago.
7000 4w A. afew hundred
- 7,000
C. 5,000

4. The underlined “their” in the

dadadll, 4K their passage refers to ......
RIPR: people
B. flowers
C. pictures
5.How many kinds of palm trees are

there?
A. More than two hundred and
seven thousand kinds
. More than seven hundred and
two thousand kinds
@ More than two thousand and
seven hundred kinds

33 s gall Jal) &\)ﬂ e S
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6. Why can't most of palm trees grow plhra aadaion ¥ 13

in the Middle East? . .iji\ Gl & gl Jaal)
Because the Middle East is

too dry. Tas Cila a1 (3800 oY
B. Because date palms are

beautiful.
C. Because people thought the

same thing,

7.Why did Syrians and Egyptians
make pictures of palm trees?

A. To put these pictures in
museums.

B. To sell the pictures and earn
money.
Because they thought they ilies Lgil | saiic ) agiY
were beautiful.

s smdl 330 13

8. They ...... part of the tree to makea O (o agd)
fire. ) -
L) il ¢
@ burn D) dﬂ’d > G
B. grow
C. enjoy
9.The underlined “They” in the They
passage refers to ...... . AT
@ people sl L.A\ e =il &
B. animals
C. dates
10. Date palms grow ...... o Aol g5 lall (LY gasy Jadl)

A. in cool places
B. in the land of the polar bear
in hot or warm places


asoliman2
Typewriter
النخل
يعتبر النخل من الأشجار الجميلة. الناس يأكلون التمر. ويغذون أيضاً حيواناتهم منه. فهم يستخدمون الأوراق والخشب لبناء المنازل. يستخدمون الخشب لبناء المراكب. ويصنعون السلال من أوراق النخل. ويحرقون الأجزاء الأخرى من النخل للطهي في المنازل.
يأتي النخل من الشرق الأوسط. من سبعة آلاف سنة، الناس فس وسوريا ومصر كانوا يأكلون التمر.
 لقد صنعوا صور للنخل عي جدران المباني. اليوم النخل يزرع 
 في الشرق الأوسط 
وأجزاء من آسيا وأفريقيا 
وجنوب أوروبا ومناطق 
أخرى دافئة من العالم
يوجد أكثر من 2700 
نوع من النخل. معظمهم 
لا يزرع في الشرق
 الأوسط لأن الجو جاف 
جداً هناك. النخل ينمو
 جيداً هناك.
من مئات السنين، 
الناس فس جنوب 
أوروبا وبعض الدول
 العربية صنعوا صور
 للنخل عى بعض مبانيهم.
 اليوم نستطيع أن نرى هذه الصور في المتاحف الفنية. يعتقد الناس أن النخل جميل. واعتقد الناس قديماً كذلك.

asoliman2
Typewriter
نستطيع أن نرى صور قديمة 
 جميلة للنخل في المتاحف الفنية

asoliman2
Typewriter
أتى النخل من الشرق الأوسط

asoliman2
Typewriter
بدأن الناس تأكل التمر من 
 7000 سنة

asoliman2
Typewriter
كلمة بالقطعة their 
تشير إلى الناس 

asoliman2
Typewriter
كم عدد أنواع النخل الموجودة
2700 أكثر من 

asoliman2
Typewriter
لماذا لا يستطيع معظم 
النخل النمو في الشرق الأوسط

asoliman2
Typewriter
لماذا أخذ السوريون 
والمصريون الصور للنخل

asoliman2
Typewriter
إنهم يحرقون جزء 
من الشجر لعمل النار

asoliman2
Typewriter
They
في النص تشير إلى الناس

asoliman2
Typewriter
النخل ينمو في الأماكن الحارة والدافئة

asoliman2
Typewriter
لأنهم اعتقدوا أنها جميلة

asoliman2
Typewriter
لأن الشرق الأوسط جاف جداً
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Why Is the Sea Salty?  J4b sbll e JS1 e a4y lladll (G olal) o,
@AY a ST e Lo lail) Gmny 963.5 s amall ol b wlall i,
There is a lot of salt on the Earth, and it mixes very well with water. [P\ P PN g G VR s oe
There is some salt in all water. Water on the land runs into lakes and rivers. glall 5 elall 43 s,
The water from most lakes goes into rivers. These rivers run into the seas and oceans. <l ﬁ-;d‘ Lelial (e g
They carry a little salt with them. Some of the ocean water moves into the air and b s¥) 38l 4

clouds. It evaporates. Salt cannot evaporate. It stays in the ocean. Cal g je 3y
The water in the oceans has more salt than the water in rivers. Ocean water is ~ s3iall SLY U 4,
about 3.5 % (three and a half percent) salt. Some seas have more salt than others. e %Jlﬂ S| gl
Some lakes do not have a river to carry the water and salt away. Some of the albY] sl
water evaporates, but the salt cannot. These lakes are very salty. There are two @l badll s,

famous lakes like this. They are the Dead Sea in the Middle East and the Great Salt
Lake in the state of Utah in the United States. They are much saltier than the Atlantic
Ocean and the Pacific Ocean.

Choose the correct answer according to the above reading passage.
= %35 s el Jiay

$ el ol 523 il 1. Where does river water run? 5. Ocean water is about 35% salt. Ll ol
A. River water runs into the A. True
Middle East and Utah. False U
B. River water runs into air C. No Information
and clouds. 6. There is salt in rivers. &Y & xloas s
Sl g el el River water runs into the A. True dagaall alay)
Silhadl s seas and oceans. B. False A. True
Slasall 8 zlall Cady il 2. Where does the salt in the @-Ne—lnformat-ion-
ocean go? 7. Clouds have salt in them. e o ) (5 gins
Lol oy @ It stays in the ocean. A. True )
B. It goes into the rivers. B. No Information
C. It evaporates. False Uaa el s g
Cudl el sl 223 31 3. Why are the Dead Sea and the 8. The Great Salt Lake is in ...... @ T s e
STl gw ey 2 5 myy  Great Salt Lake saltier than the | @) the United States sasiall LY M)
oslb¥) Lndll (e dasle  Atlantic Ocean? B. the Atlantic Ocean
" A. Because they are more C. the Middle East
famous than the Atlantic 9. What do oceans have more than )
Ocean. rivers? 26 e S8 L) (54 13k
B. Because they do not have @A) Oceans have more salt. S e 4l sl
el pleaia e e@—"‘y ](;louds. B. Oceans have more c!ouds.
CLY\) sl 4 | guad ecause they do not have C. Oceans ha\{e more air. o
a river to carry the water | 10. What does salt mix well with? Tus <Ll = ji il
and salt away. ' A. Salt mixes well with Earth.
Lisdll ol (gany a3l 4. Where does some of the ocean B Salt mixes well with water. sl Tas z ey )
water go? C. Salt mixes well with
A. The ocean water goes into United States.
a lake.
B. The ocean water runs into
ariver.

A Jasall slaa @ The ocean water
evaporates.
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لماذا البحر مالح؟
يوجد كثير من الملح على الكرة الأرضية، ويمتزج بالماء جيداً. يوجد نسبة من الملح كل المياه. المياه على اليابسة تجري إلة البحيرات والأنهار. يجري الماء من معظم البحيرات إلى الأنهار. هذه الأنهار تصب في البحار والمحيطات. ويحملون معهم القليل من الملح. بعض امن مياه لمحيطات تنتقل للهواء والسب بالتبخر. لكن الملح لا يتبخر ويبقى في المحيط.
ويصبح الماء في المحيطات به ملح أكثر من المياه بالأنهار. 
يمثل الملح في مياه المحيط حوالي 3.5%. بعض البحاربها ملح أكثر من الأخرى.
بعض البحيرات ليس لديها أنهار 
تصب فيه الماء والملح. 
ومن أمثلتها البحر الميت
 في الشرق الأوسط 
وبحيرة غريت سولت 
في الولايات المتحدو.
 فهم أكثر ملوحة من 
المحيط الأطلسي 
والمحيط الهادي.
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الإجابة الصحيحة 
A. True
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أين تجري مياه النهر؟
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مياه النهر تجري إلى البحار 
والمحيطات
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أين يذهب الملح في المحيط؟

asoliman2
Typewriter
يبقى في المحيط
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لماذ تعد مياه البحر الميت 
وبحيرة غريت سولت أكثر ملوحة من المحيط الأطلسي
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لأنهم غير متصلين بأنهار 
ليصبوا فيه المياه والأملاح
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أين تذهب بعض مياه المحيط
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مياه المحيط تتبخر
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يمثل الملح حوالي 35% من 
مياه المحيط
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Typewriter
خطأ
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يوجد ملح في الأنهار
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تحتوي السحب على ملح
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Typewriter
خطأ
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تقع بحيرة غريت سولت في
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الولايات المتحدة
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ماذا لدى المحيط أكثر من النهر
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المحيط لديه ملح أكثر
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بماذا يمتزج الملح جيداً
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الملح يمتزج جيداً بالماء

asoliman2
Typewriter
--------------------


A8l gl Gy 5l 8 o1Vl oLV iy Y s o Y S 85 gl 5 Al s el ¢ shang il 05 (ALl 0m S,
o8 s Aelu 2159 (lsa Gl (puly QLI (8 Jaal) (B s Slas 1646 (o (il iy L b (B (5 58Y A3 e aliaS Jaal) el
) AumY) dadl 10 5 230 51 g sl 12 G0 ST (g1 Aol 513 (Mg 0w i) o ST (5 shans 05l O (i 138 Jand)
Jarll jal Jaad ¥ ISl Ga 30 G e, JLadl (g 0 3al) oS (53 agdd doilial Clelu Jany Galill iy s cleld il oy 130
Many people say that they are working too many hours. They don’t have ¥ peilased ALY

enough time with their families. They can't take care of things at home. They don’t éb"‘ o) u}*‘u-“
have time to relax. sy Jaal) dﬂ“
Work hours vary from one country to another. In France, people spend about UJL"-' ol o3
1,646 hours a year at work. In Japan, however, people work about 2, 159 hours a year. ¥ “:‘3‘-*.;‘3 ‘L’E‘:“-“
That means a Japanese employee works 513 more hours a year than a French ?G'“U <l C{J‘“‘f-a’-
employee. That is more than 12 weeks, or three months, of extra work! 3 w‘“—’ Q‘L‘” L“"'—‘
Why do people work so many hours? Some people work extra hours because ‘J! f*@*ufﬁ ol
they want to earn more money. However, many companies don’t pay overtime. Their uj\"‘" ‘f’ﬁs UJL""
employees don’t get extra pay for extra work. These people work extra hours because Os st o) e i)

they think it is their duty. Some people are afraid they will lose their jobs if they don’t Z’Jf‘"s. ?G"‘JLAT' o
work extra hours. .Luu)ﬂ PLIHACN
(G AA“' O}L“A.-.‘

Many people say that their vacations are too short. In France, people get five

weeks of paid vacation. In Germany, they get from four to six weeks. In the United =3 3! gaulul

States, two weeks of vacation is the average. Many people don’t even use all of their

Ll 8l

vacation days. In one study in Great Britain, fewer than half of workers used all their &* BJ’L?‘,&*&’ U‘J“L‘T’
vacation days. In English, people say, "All work and no play makes Jack a dull boy." gl B ) ),

If that is true, there are a lot of dull people in the world.

sasiall il ) b

Choose the correct answer according to the above reading passage. . o Jalll o la) e

Ga i il 5 (3 Al 0
Alaadl Caal

1. Why do some people work extra 6. How many hours a year do people
hours? in Japan work? ;r‘ﬁ.jj\%‘ ‘J““f:‘“‘
A. Because they want to take A. 1,646 hours a year Jss ial Jio ollia 5 ALdS
care of things at home. B. 513hours a year e d’*“ ad 050 Ll Jaadl
B. Because they want to relax. @© 2,159 hours ayear ' (S 13 Slas bas &“ o
Because they want to earn 7. If your company pays overtime, J‘“ﬁ‘ ‘ﬂh@ G
more money. you get more money when you Al gl o
2. In which country do people get work extra hours. pladl
the longest vacations? A. False
Q) In Germany True
B. In France C. No Information
) C. In the United States 8. Work hours are the same in all
¥ gxled 222 S 3 How many weeks of vacation do countries. Ol maen b a5 Jaall el
0S¥ adaly A people in the United States get? (&) False (s )
A. From four to six weeks B. True
e sl (B) Two weeks C. No Information
C. Five weeks 9. In Great Britain, more than half of
4. An employee s ...... 5 workers don’t use all their vacation
ale 5 cala gal) @ A worker days. Jlead) Ciuai (o ST (Ll 5y b
B. A mother A. False AalS agijlal (e o sxiaty ¥
C. A student ®B) True z-
) 5. You always earn extra money C. No Information
S e S Wil whep you work extra hours. 10. People in Japan work more hours
Fhal dlebu Joxi Laie A. True than people in France. Slele g sleny oL & il
s (B False A. No Information Lo b 8 el e S
C. No Information B. True .. ) 4Ly
False- e
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الكثير من الناس يقولون أنهم يعملون لساعات طويلة. وليس لديهم وقت كاف لاسرهم. ولا يستطيعون الاهتمام بالأشياء في المنزل. وليس لديهم الوقت للراحة.
ساعات العمل تختلف من دولة لأخرى. في فرنسا يقضي الناس حوالي 1646 سعاة سنوياً في العمل. في اليابان يقضي الناس حوالي 2159 ساعة سنوياً في العمل. هذا يهني أن اليابانيون يعملون أكثر من الفرنسيون بحوالي 513 ساعة اي أكثر من 12 اسبوع أو ثلاث شهور من العمل الإضافي. 
لماذا يعمل الناس لساعات طوال؟  بعض الناس يعمل ساعات إضافية لأنهم يريدون كسب المزيد من المال.مع أن الكثير من الشركات لا تعطي أجر للعمل الإضافي. فموظفيهم لا
 يتقاضون أجر إضافي 
مقابل العمل الإضافي. 
هذه الناس يعملون 
ساعات إضافية لأنهم 
يعتقدون أنه واجبهم. 
بعضا الناس يخشون م
ن فقدان وظائفهم إذا لم 
يعملون لوت إضافي.
الكثير من الناس يقولون
 أن إجازاتهم قصيرة 
جداً. في فرنسا  
يحصلون على خمس 
أسابيع أجازة مدفوعة 
الراتب. في ألمانيا
 يحصلون على إجازة من
 أربع إلى ستة أسابيع. 
في الولايات المتحدة
 أسبوعين فقط. الكثير من الناس لايتفيدون 
من إجازتهم بالكامل. ففي 
دراسة في بريطانيا، أقل من 
نصف العمال
 استخدموا إجازتهم
 كاملة. وهناك مثل أجنبي يقول
 العمل دائما دون لعب يجعل م
ن جاك صبيا مملا. إذا كان هذا 
حقاً فهناك الكثير
 من الناس المملة 
في العالم. 
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ساعات العمل واحدة في جميع الدول
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Typewriter
خطأ

asoliman2
Typewriter
في بريطانيا، أكثر من نصف العمال 
لا يتمتعون من أجازتهم كاملة
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Typewriter
صح

asoliman2
Typewriter
الناس في اليابان يعملون ساعات 
أكثر من الناس في فرنسا
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الإجابة الصحيحة
True
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--------
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دائماً تكسب مال أكثر 
عندما تعمل ساعات إضافي
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خطأ
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Typewriter
الموظف يكون عامل
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كم عدد أسابيع الإجازة 
التي يأخذها الأمريكيون
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أسبوعين


¢S il
&8l Jie i) 4aa) Gl (0 Y g daiiad 4pal Gadl g dalaall a8 (g 500 () puhall ki W ASY Tan (y je il ad) Dy j a0 A c;;ag‘ Ul
Tan Jasha o liay qibial @l Ler 8 JS all dudy 4y b gubal)
Tan oS (53S0 AT il (ol (ge Jumdl apal all duls agie (3a8 Cuadil) dndl O Jlel ol iy alsa o Sl e Sl (g oSI) oy,
The Kiwi 1S 43550 ¥ Ul oY) 1Y 50 (8 (5 S (e Bl Jath a5y,
oSl JB e alill aial A S,
The kiwi lives only in New Zealand. It is a very strange bird because it cannot O st omaY sl
@S Gy,
EETNI R PPN
feathers like other birds. Its feathers look like hair. Each foot has four toes. Its beak is 42y ) ol dlaxll e
S (s Bual 1Y 5 a8 e (el (amy g

fly. The kiwi is the same size as a chicken. It has no wings or tail. It does not have

very long.

A kiwi likes to have a lot of trees around it. It sleeps during the day because the
sunlight hurts its eyes. It can smell things very well. It smells things better than most
birds do. The kiwi's eggs are very big.

There are only a few kiwis in New Zealand now. People do not often see them.
The government says that people cannot kill kiwis. New Zealanders want their kiwis
to live.

There is a picture of a kiwi on New Zealand money. People from New Zealand

are sometimes called “kiwis”.

Choose the correct answer according to the above reading passage.

Sl aaa L 1. How big is the kiwi? i 6. The kiwi livesin ...... S PPRUS o
A. The same size as an egg A. the North Pol T
dalaall ana Jie 4 The same size as a B. Australia
chicken l @ New Zealand 1u3L ) e
C. The same size as a tail _ 7. A kiwi has a tail but no wings.
<) 5% 13k 2. What is a kiwi? A. True dnial (g oS b 4l (5 )
sk @ Abird B. No information
B. A chicken ©) False Uaa
C. Anegg 8. The kiwi’s egg is very long. Tax sk (551 ooy
fesSl oy S 3. When does a kiwi sleep? A. No information. )
A. Around the trees. False. (L
Oleall o During the day. C. True.
C. On feathers. 9. A kiwi likes to have a lot of ......
Glal ¢ paY el ey 4. New Zealanders are sometimes around it. Aga e i) e L oSl Cny
called ...... . A. money T
xS (@ kiwis B. feathers
B. chickens trees
C. wings 10. The government says that people . 3
ol alixa sy 55S) 5+ A Kiwi is like most other birds. cannot kill kiwis. c Y "d\‘ féﬂ&fﬁﬂ
A A. True. A. No Information Sl B ol e
i (B False. @True
C. No information C. False
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طائر الكيوي
يعيش الكيوي في نيوزيلاندا. إنه طائر غريب جداً لأنه لا يستطيع الطيران. الكيوي في نفس حجم الدجاجة وليس لديه أجنحة ولا ذيل. ليس لديه ريش مثل باقي الطيور فريشه يشبه الشعر. كل قد بها أربع أصابع ومنقاره طويل جداً
يحب الكيوي الكثير من الأشجار من حوله. ينام أثناء النهار لأن أشعة الشمس تحرق عينيه. حاسة الشم لديه أفضل من أي طائر آخر. بيض الكيوي كبير جداً.
يوجد فقط القلق من الكيوي في نيوزلاندا الآن. والنا لا يرونه كثيراً. 
الحكومة تمنع الناس من قتل الكيوي.
 فالنوزلانديين يريدون أن 
يعيش الكيوي.
توجد صورة للكيوي
 على العملة النيوزلاندية
 وبعض الناس من نيوزلاندا أحياناً يدعون كيويس 
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ما حجم الكيوي؟
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في مثل حجم الدجاجة
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ماذا يكون الكيوي؟
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طائر
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متى ينام الكيوي؟
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أثناء النهار
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يدعى النيوزلانديزن أحياناً
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كيويز
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الكيوي يشبه معظم الطيور 
الأخرى
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خطأ
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يعيش الكيوي في
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نيوزيلاندا
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الكيوي لديه ذيل لكن بدون أجنحة
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خطأ
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بيض الكيوي طويل جداً
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خطأ
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يحب الكيوي الكثير من الأشجار من حوله
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تقول الحكومة أنه لا يجب 
على الناس قتل الكيوي
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صح
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The camel can go without water for a long time. Some people think it o de o S 2a sy

aal Jaalld o) jaiall
stores water in its hump. This is not true. It stores food in its hump. The snil ALy gl ga
camel’s body changes the food into fat. Then the fat is stored in the e oo dLjJ“-
hump. A camel cannot store the fat all over its body. Fat all over an 150 ‘;‘Pﬁ L{’J‘E\
animal’s body keeps the animal warm during the day. A ) Bl ¢ ghaniall il cpa SIS

agadl Taa age Jaall (Y cilalSll o3 JS () saliag
The desert is very hot. The camel gets hotter and hotter during the

day. It stores this heat in its body because the nights are cool.

The Arabian camel has one hump. The Bactrian camel of Central
Asia has two humps. It also has long, thick hair because the winters are
cold in Central Asia.

There is a lot of sand in the desert. The camel has long eyelashes.
The eyelashes keep the sand out of the camel’s eyes.

Arabic has about 150 words to describe a camel. Many people who
speak Arabic need all these words because the camel is very important
to them.

It / its refer to the camel

It refers to the Bactrian camel. /.

dalive A aladall ) 530 fadlin 8 Jaall 30 13k
1- What does the camel store in its hump? It stores food in its hump

——,

Dl el ol gaadl iy o Ladlad () sl anes aliza ¢y saall $ saall ) Jaall zliag 13
2- Why does the camel need the fat for? Fat all over an animal’s body

keeps the animal warm during the day. -

—

3- Why does the Bactrian camel have long, thick hair? $iSs dish sad 4l gl i<l Jas 13Wd

because the winters are cold in Central Asia. b sl Ll 88 L il Y

E—

4- How many humps does the Bactrian camel have? €0l Sl Jaall (sl 2l sae oS

2 humps Cmaline
.~ 4
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يستطيع الجمل المشي بدون مياه لفترة طويلة. بعض الناس يعتقدون أنه يخزن الماء في سنامه. هذا غير صحيح. فهو يخزن الطعام في سنامه. جسم الجمل يحول الطعام إلى دهون. ثم تخزن الدهون في السنام. لا يستطيع الجمل أن يخزن الدهون في جميع أجزاء جسمه. الدهون في جميع أجزاء جسم الحيوان تجعله يشعر بالدفء أثناء اليوم.
فالصحراء حارة جداً. والجمل يصبح أكثر حرارة أثناء النهار. فهو يخزن هذه الحرارة في جسمه لأن الليل يكون بارد.
الجلم لالعربي له سنام واحد.والجمل البكتريان  في آسيا الوسطى له سنامان. ولديه أيضاً شعر طويل وسميك لأن الشتاء في وسط آسيا بارداً.
يوجد الكثير من الرمال في 
الصحراء. فالجمل لديه
 رموش طويلة لتبعد 
الرمال عن عينيه.
اللغة العربية  لديها حوالي 150
 كلمة لتصف الجمل.
 والكثير من الناس المتحدثون باللغة العربية 
يحتاجون كل هذه الكلمات لأن الجمل مهم جداً لديهم
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ماذا يخزن الجمل في سنامه؟ يخزن الطعام في سنامه
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لماذا يحتاج الجمل إلى الدهون؟ الدهون في معظم جسم الحيوان تحافظ على دفء الحيوان أثناء النهار
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لماذا جمل البكتيريان لديه شعر طويل وكثيف؟
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لأن الشتاء باردة في آسيا الوسطى
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كم عدد الأسنام لدى الجمل البكتريان؟

سنامين


Jlsll e Jaall (e e Ladlas (fga 1) $20 sda (i sa ) 40l Jeal) 13Ld
5- Why does the camel have long eyelashes? The eyelashes keep the
sand out of the camel’s eyes.

6. Where does the camel live? Sandl (hany oyl
a) Near the North Pole. &l oaall B
b) Near the South Pole.
¢) In the desert
d) Inthe Middle East.
7. Why does the camel have long eyelashes? oealdll J)gud) i

a) Because the winters are cold.
b) Because it is very important.
c) Because it cannot swim.
d) Because they keep the sand out of the camel’s eyes.
8. According to the text, which of the following is TRUE?  ¢is s 2,000 <l jlall (of il Ga
a) The camel stores water in its hump.
b) The camel is not important to the Arabs.
c) There is not a lot of sand in the desert.
d) The Bactrian camel has long, thick hair. ai<y Jioha yed gl Gl i< Jaall

9. What does the underlined word “eyelashes” mean? eyelashes 4 i 13
a) Fly.
b) Cause death.
¢) Small hairs around the eyes.  ;gall Jon juai i
d) Layeggs.

(LS 5 A ) cobabaiall

Antonym is the opposite meaning.

P T L — low &2 ’U’hot ( heat ) --—-------—- cold >
P R T — different (A5 3" inside ------—- outside 27\
Y. #b Long -----—--- short /:‘é O up ---------mmmmmee- down Y~ {
é ‘J':’/ Big ------------ small _-=" 54,;(" VY1 4 1) R— cool >/
Z:.;-P True ------—-- false Gp 1 I 12— quickly S~
/;':‘/ Large —— small 5y° above - below %

Z/,C" Open ------—- close o Y* before - after
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لماذا الجمل لديه رموش طويلة؟ الرموش تحافظ على عين الجمل من الرمال
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أين يعيش الجمل؟
في الصحراء
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نفس السؤال الخامس 
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وفقاً للنص، أي العبارات التالية صحيحة؟
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الجمل البكتريان لديه شعر طويل وكثيف
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  eyelashes ماذا تعني كلمة
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شعر قصير حول العيون


Q/ Bored --------- interested "3”/ ,Pl‘pno one ------------ everyone)p),y/
5  Enemy ------—---— friend > *° difficult -—mmmrmeemeees easy

. & Hate -------- love F- /P ! cheap --------—-- expensive bV
t.‘_, Collect ----------—--- pass out &)')’ ‘/j';;‘?southern ————————————— western g‘f

(Wlina (i 5 AalSl) ) cidal jial)

Synonym ( the same meaning)

¥ Hard —----mm-- difficult S M relaxed --------- calm
{:\\/ Common ------------ usual y boring --------- not interesting
v\ Either ---------—- one of two things ]5I:;ake ------- cook in the oven
/ké Dangerous ------------ not safe ‘)\3expensive -------- not cheap
Quick ----------- not slow
v
. “\ ) )
L2 \ Collocations <le j20all noun adjective ,
‘/b:) _ spend Time / money é_;;‘ Snow snowy 8""
v”-" _play Cards/ music ~ s~ | Cloud cloudy &\
. Llose ~ | Money/ajob T fee icy ST
- | save Time / money v Salt salty Y
/;’))’/ e | Juice juicy was - =
v, | Wind windy N
%_'_;,. Sun sunny |
Y Shine shiny oY

S



Compound words 4 ! <l

under water underwater S\IteS
under line underline Shass
near By Nearby s
Sun Light Sunlight Lo\ 2P
Sun Rise sunrise PP PPYyS
Spring Time springtime =\
Room Mate Roommate = ' )=
Sea Food Seafood arcuso
Home Work Homework cfecel,
Can Not cannot ,_,A:_), U

Pronouns _ilzall

Reflexive pronouns Adjective Possessive
4uSaiadll szl Pronouns A4Skl jlan

Myself my

You

Yourself( singular) / | your
yourselves ( plural)

He /Adel / Sami/ Ahmad Himself his
She / Laila / Sarah / Amal herself her
It / a cat / the camel / The | itself its
car

We ourselves our
They / the boys / the kiwis/ | themselves their

the men / the women




12/8/2018

Practice Test

Practice Test

The Kiwi

The kiwi lives only in New Zealand. It is a very strange bird because it cannot fly. The kiwi is the
same size as a chicken. |t has no wings or tail. It does not have feathers like other birds, Its feathers
look like hair. Each foot has four toes, Its beak is very long.

A kiwi likes to have a lot of trees around it. |t sleeps during the day because the sunlight hurts its
eyes. |t can smell things very well. It smells things better than most birds do. The kiwi's eggs are very
big.

There are only a few kiwis in New Zealand now. People do not often see them, The govemment
says that people cannot kill kiwis. New Zealanders want their kiwis to live.

There is a picture of a kiwi on New Zealand money. People from New Zealand are sometimes
called “kiwis”,

Choose the correct answer according to the above reading passage.

* Required

1.1, How long does yawning last? *  $citill 1aaly ) sadl L
Mark only one oval.

s (/' five seconds o) s .

2. 3. When you see someone yawn? * GOl (a5 5 Ladie
Mark only one oval.

() yourun

() yousleep

() youyawn il el

3. 4. Most Olympic runners yawn before " . & . .
—_ 5 o0l el oY) pilaal) alaaa
Mark only one oval. 8 085 Canel Y1 08

,_/ arace Bl

) bears

4.5. Do camels yawn? € Lall (il cula
Mark only one oval.
(L) Yes theydo  ()slady aas
() No, they don't

y A+B

N d

5. 6. What do you do first when you yawn?  ¢Cilisi Laxie alaii ¢ i Jsl Le
Mark only one oval.

() Iclose my mouth
(L lopen mymouth b il
(D Ikeep my mouth open

https2/idocs.google.com/forms/d/1BbxYaK5YjoH Fk20Y4Yf4ghTdn4xPMFJyhDjCY6eWvbc/edit
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asoliman2
Typewriter
ما المدة التي يأخذا التثائب؟

asoliman2
Typewriter
خمس ثوان

asoliman2
Typewriter
عندما ترى شخص يتثائب

asoliman2
Typewriter
فأنت تتثائب

asoliman2
Typewriter
معظم العدائين الأولمبيين يتثائبون قبل

asoliman2
Typewriter
السباق

asoliman2
Typewriter
هلت تتثائب الجمال؟

asoliman2
Typewriter
نعم يفعلون

asoliman2
Typewriter
ما أول شيء تفعله عندما تتثائب؟

asoliman2
Typewriter
أفتح فمي


12/8/2018 Practice Test
6. 7. Why don't scientists spend much time studying yawning? ¢l A )3 3 Jisha g clalall aly Y 13
Mark only one oval. =y
() K might be because yawning does not hurt.  als: ¥ bl ()Y Ly
() because yawning is not important
() because yawning hurts

7. 8. Which sentence is true? *  $iaa ()5S Jaall
Mark only one oval.

() Yawning is not just something we do
() Bears do not yawn

L~ People yawn when they are only excited or tired  (jaie s (an i dad | 53 6, Ladie il Cailiy

8. 9. What does the pronoun ' they' in the following sentence ™ we know that people also

yawn when they are excited or nervous. " refor to? they
Mark only one oval. 153585 Ladie (il Lyl (lil) of oy o) 000 Al 3
) runners

() people .

9. 10. What does the word * probably™ mean? probably

Mark only one oval. PPt Jala
O sursy

/) maybe Lo,

") never

Start this form over.

Vocabulary Ll
Choose the correct word,

10. 11. The bird can fly because it has wings and o sdaial 4l (Y ol ) iy i)
Mark only one oval.

() abeak

11. 12. The of the shirtwas large. .< \< ol s
Mark only one oval.

O feathers
O only

(V) size (i

https://docs.google.com/forms/d/1BbxYaK5YjoHFk2OY4YT4ghTdn4xPMF JyhDjCYSeWvbc/edit 213


asoliman2
Typewriter
لماذا لا يقضي العلماء وقت طويل في دراسة التثائب؟

asoliman2
Typewriter
ربما لأن التثائب لا يؤلم

asoliman2
Typewriter
أي الجمل تكون صحيحة؟

asoliman2
Typewriter
يتثائب الناس عندما يكونوا فقط فرحين أو متعبين

asoliman2
Typewriter
they
في الجملة التالية  (نحن نعرف أن الناس أيضاً يتثائبون عندما يكونوا فرحين أو معصبين) يشير إلى من؟

asoliman2
Typewriter
الناس

asoliman2
Typewriter
probably
ماذا تعني؟

asoliman2
Typewriter
ربما

asoliman2
Typewriter
الكلمات

asoliman2
Typewriter
الطائر يستطيع الطيران لأن لديه أجنحة و

asoliman2
Typewriter
ذيل

asoliman2
Typewriter
مقاس القميص كان كبير

asoliman2
Typewriter
مقاس


12/8/2018 Practice Test

12. 13. Camels live in the - b dlaall faas
Mark only one oval.

13. 14. | can not my best friend. | cannot tell how he looks kike,
Mark only one oval. S 058 Gl Jd o aadaind ¥ demtall s Coual of gbaiad Y
) fly
() smell

14.15.Morocco isinthe _ of Africa. \:@,Uéi CE Al Oyl
Mark only one oval. ~ 1)
= ~ 3 p UFJ'
north L . B - U\ \S"“‘“ g CJ '
(O south o = dagaall sy
) west ) West

15. 16. 1 used to fishtenyears 8go. .. ¢ i e (e cland) slaal () e
Mark only one oval.

) swim

O ver

16. 17. The antonym of the word® cool is R
Mark only one oval.

(O interested
O quickly

() wam A

cool

17. 18. The opposite word of the word ’ true' Is P oaS L WS

Mark only one oval. true

Y close

,
O true

\,.(7/ ) false

18. 19. Do not lie and to be sick. SR PRE P PRERISAY,
Mark only one oval. )

) exercise
) pretend Sl ey

() laugh

hitps:/idocs google.com/forms/d/1Bbx YaK5YJoHFK20Y4 YI4ghTdndxPMF JyhDJCYBeWvbc/edit 313


asoliman2
Typewriter
الإجابة الصحيحة 
West

asoliman2
Typewriter
تعيش الجمال في 

asoliman2
Typewriter
الصحراء

asoliman2
Typewriter
لا أستطيع أن أصف صديفي المفضل. لا أستطيع أن أقول كيف يكون شكله

asoliman2
Typewriter
يوصف

asoliman2
Typewriter
المغرب تقع في غرب أفريقيا

asoliman2
Typewriter
غرب

asoliman2
Typewriter
اعتدت أن أصطاد السمك من عشر سنوات مضت

asoliman2
Typewriter
أصطاد

asoliman2
Typewriter
عكس كلمة 
cool

asoliman2
Typewriter
دافئ

asoliman2
Typewriter
عكس كلمة
true

asoliman2
Typewriter
لا تكذب وتدعي أنك مريض

asoliman2
Typewriter
يدعي أو يتظاهر


12/8/2018

19, 20. The test was

Mark only one oval.

) connect

() chib

Practice Test

to be answered.  J~ ) Caa S laiaY)

20. 21. The word that does not belong with the other two: scientist, teacher, swim.

Mark only one oval.
(") scientist
( V ) SWIM =
21. 22. The indian
Mark only one oval.
() salt

22, 23. There are a lot of
Mark only one oval.

(V) stars sl
") date palm trees

M‘O@M“w‘;dﬁﬁy\ u.\mgalﬁy‘;ﬂ\ )

is bigger than the Red Sea. .Y ) . ST aigl) ol

in the sky.

;M\‘fﬂw_)ﬁﬁ\hﬁ

23, 24. The name of the fruit of the paim tree is b OsSe JAal L aud

Mark only one oval.
() dates ol
__ N )

() baskets

24,25.1boughtanew ____yesterday to keep frults In. 2eSUll 4 Jaia¥ (udl yan Jhas <y i)

Mark only one oval.

) rug
) roof

,‘/ basket i -Jhaw - Al

25, 26. The camel eats
Mark only one oval.

IS sl

https/idocs google.com/forma/d/1 BbxYaK5YjoHFK2ZOY4Yi4ghTdndxPMFJyhDJCY8eWvbc/edit
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asoliman2
Typewriter
الامتحان كان صعب أن يحل

asoliman2
Typewriter
صعب

asoliman2
Typewriter
الكلمة  التي لا تنتمي للكلمتين  الأخرتين علماء ، معلمين ، يسبح

asoliman2
Typewriter
يسبح

asoliman2
Typewriter
المحيط الهندي أكبر من البحر الأحمر

asoliman2
Typewriter
المحيط

asoliman2
Typewriter
يوجد الكثير من النجوم في السماء

asoliman2
Typewriter
النجوم

asoliman2
Typewriter
أسم ثمار النخل يكون

asoliman2
Typewriter
التمر

asoliman2
Typewriter
اشتريت سطل جديد أمس لأحفظ فيه الفاكهة 

asoliman2
Typewriter
سلة - سطل- دلو

asoliman2
Typewriter
الجمل يأكل

asoliman2
Typewriter
العشب


12/8/2018 Practice Test

26.27. My is Saudl Arabla, 2 gal) Ay jall ASleall & A9
Mark only one oval.
() chance
() salary

4 country s

27.28. Can you the pen from the ground? oY) e (e plill Ll o qadats Ja
Mark only one oval.

O prtect
() pick Laaily

O il

28, 29. Hani worked four hours of two days ago. e (es (e Adlal Glelu gl dee Jla
Mark only one oval.
) extra
(/) overtime GBal i

) eam

29, 30. | need to go on EREUR I
Mark only one oval.

(O hose
(O employees
(L) vacation BN

30. 31. | have 25 Saudi Riyals, so | will buy a sandwich, Uit s3ls (5 yisla A3 (g3 s by 25 Al ss (s
Mark only one oval.
) heat

) about L - (s

O a wing
inside

31. 32, What is the antonym ( opposite) of the word * inside’ is v Al pda (pSe W
Mark only one oval,

() different

(D low
() outside oAl

32, 33. It Is Important to be when you drive a car. 5kl 258 Lexie 1 ) 5S5 f agal) (10
Mark only one oval.

D poisonous
() slert L

) oceans

https/idocs.google.com/forms/d/1BbxYaK5YJoHFk2OY4YT4ghTdn4xPMFJyhDJCY6GeWvbc/edit 513



asoliman2
Typewriter
دولتي هي المملكة العربية السعودية

asoliman2
Typewriter
دولة

asoliman2
Typewriter
هل تستطيع أن تلتقط القلم من على الأرض؟

asoliman2
Typewriter
يلتقط

asoliman2
Typewriter
هاني عمل أربع ساعات إضافية من يومين مضت

asoliman2
Typewriter
وقت إضافي

asoliman2
Typewriter
أريد أن آخذ 

asoliman2
Typewriter
إجازة

asoliman2
Typewriter
لدي حوالي 25 ريال سعودي، لذلم سأشتري ساندويتش

asoliman2
Typewriter
حوالي - تقريباً

asoliman2
Typewriter
inside
ما عكس هذه الكلمة

asoliman2
Typewriter
بالخارج

asoliman2
Typewriter
من المهم أن تكون يقظ عندما تقود السيارة

asoliman2
Typewriter
يقظ


Practice Test

12/8/2018
33.34. Tomcan eat a pizza. | can eat only a few pleces.
Mark only one oval.
() famous
: mix
() whole JaSIL - alals
34, 35.Ten ten equals twenty. -, jic = ic + 5 e
Mark only one oval.

() exercise
) medicine
() plus  weall Adle (+)

Word Study Section . - cili<i i ;s o8

Choose the correct option:

35. 36. The kiwi
Marik only one oval.

only in New Zealand.

() lives a
() live

—

(_ ) lving

36. 37. Hashem
Mark only one oval.

() donot paint
() did not paint
+~) does not paint

ot ¥V - canY
37. 38. Ranla and Maha do not
Mark only one oval.

\' makes
() make
\_‘. made

38. 39, Sanad
Mark only one oval.

() thinks
() think

\ [/1 thought

39.40. The cars blue. <)) S8l Ll

Mark only one oval.

https//docs.google.com/forms/d/1BbxYaK5 YjoHFK2OY4 Y4ghTdn4xPMFJyhDjCYBeWvbc/edit

@L.\ui i Al ) i JSLJ Oi ?Jﬁ @\Lﬁv.m“
adadll e Tas Jul8 asa JSJ )

1Bl ) o (8 Jadh (s (5 5]l

his house every year. .lc JS 4 jic (pan Y adla

the cakes every night, Ll JS cla<ll 1 griias ¥ g g Wil

that Aliwas here. La (S o i afic) ais
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asoliman2
Typewriter
يستطيع توم أن يأكل بيتزا كاملة. أنا أستطيع 
أن آكل فقط قليل جداً من القطع

asoliman2
Typewriter
كاملة - بالكامل

asoliman2
Typewriter
عشرة + عشرة = عشرون

asoliman2
Typewriter
علامة الجمع (+)

asoliman2
Typewriter
قسم دراسة الكلمات - القواعد

asoliman2
Typewriter
الكيوي يعيش فقط في نيوزيلاندا

asoliman2
Typewriter
يعيش

asoliman2
Typewriter
هاشم لا يدهن منزله كل عام

asoliman2
Typewriter
لا يدهن - لا يطلي

asoliman2
Typewriter
رانيا ومها لا يصنعون الكعك كل ليلة

asoliman2
Typewriter
سند اعتقد أن علي كان هنا

asoliman2
Typewriter
السيارات تكون زرقاء


12/6/2018 Practice Test

40. 41.1 sick today. s (= e i Ul
Mark only one oval.

O s
(O are

(&) am

41, 42. Hind late today, sl 5,alie () sS3 ai
Mark only one oval.

) is

—
\

42.43. there boys in the garden? &=l 8 ¥l dllia da
Mark only one oval.

O
() Are

43.44, there a chair next to the window? LI )l sy oo S cllia Ja

Mark only one oval.

() B

44, 45. you speak Russian? ‘30 S il da
Mark only one oval.

(ks
() Do

45, 46, Hisham hard? S Jem 2l Ja
Mark only one oval.

(O Does/ works
(¢~) Does/work
(O Does /working

48, 47. There Is a table In the room. Is wooden. s L) A all A gls aa g

Mark only one oval.
() They

™) He

htips/idocs.google com/omns/d/1BbxYaK5YJoHFk2O Y4 YT4ghTdn4xPMF JyhDjCYBeWvbc/edit

773


asoliman2
Typewriter
أنا أكون مريض اليوم

asoliman2
Typewriter
هند تكون متأخرة اليوم

asoliman2
Typewriter
هل هناك أولاد في الحديقة؟

asoliman2
Typewriter
هل هناك كرسي بجوار النافذة؟

asoliman2
Typewriter
هل انت تتحدث روسي؟

asoliman2
Typewriter
هل هاشم يعمل بجدية؟

asoliman2
Typewriter
يوجد طاولة في الغرفة. إنها جشبية


12/8/2018 Practice Test
47. 48. There are some students In the journey. too much, T2 05 :S agd) Al il (8 Q) amy 2
Mark only one oval. L
J— are
@)
(2 They

() He

N

- L

48.49.1 downtown yesterday. uui el
Mark only one oval.
() walk

() walks
() walked

49, 50. We our lunch yesterday at 3 o'clock. Ul de Lol (ual Lilae LS
Mark only one oval.

o

) eats

() eat

L

(&) ate

50. 51. They the computer three days ago, uae oLl GO (e i saSll | saliay ol aa
Mark only one oval.

() does not repair

") donot repair
‘) did not repair

51. 52. Ahmed did not adentistlastyear. ol ALl (Ll Cunha raay ol daa
Mark only one oval.
(¢ become
becomes
() became

52, 53. The gi} busy last week. _.lul & sl Al g (S5 ol i)
Mark only one oval.
(¢) was not
) isnot

) am not

53.54.______ Adel play soccer last weekend? Scobll ¢ sl Al 0285 S el Jile b
Mark only one oval.
) Did
O oo

( ) Doses

M

https:/idocs.google.comforms/d/1BbxYaK5YJoHFk2OY4 Yf4ghTdndxPMFJyhDICYBeWvbc/edit 813



asoliman2
Typewriter
يوجد بعض الطلاب في الرحلة. إنهم كثيرون جداً

asoliman2
Typewriter
تمشيت أمس

asoliman2
Typewriter
أكلنا غدائنا أمس الساعة الثالثة

asoliman2
Typewriter
هم لم يصلحوا الكمبيوتر من ثلاث أيام مضت

asoliman2
Typewriter
 أحمد لم يصبح طبيب أسنان العام الماضي 

asoliman2
Typewriter
البنت لم تكن مشغولة الأسبوع الماضي

asoliman2
Typewriter
هل عادل لعب كرة قدم نهاية الأسبوع الماضي؟


12/8/2018 Practice Test

54,55, | the carnow. YY) 5Ll o g8 Ul
Mark only one oval.
() isdriving
() drive
(47 am driving

55, 56. They are their address at this moment. 4balll 038 8 agil gic ()9 pay a8
Mark only one oval.

586. 57. The plural form of the word * unch' is . lunch
Mark only one oval. AZPALN|IFRYY o L

O Junch

) lunches

() lunchs

57. 58. The plural form of the word * library’ Is ) eusljibrary 5
Meark only one oval. EPNNPLEIFPEN

() library

(¢~ libraries

() librarys

58. 59. Hala gave me book. oS ilaci dlla

Mark only one oval.

) its

__ their

@) hor allisliie

59, 60, The camel moves tall, AR s dead

Mark only one oval.

) i 3 Jile ) AShe Bia
() ther

() your

60. 61. The teachers explaln lessons,  acus 0 (sl (s el
Mark only one oval.

) is
(T their Jile ye ol Jile ¢ s peall A8k dia

(O nis

htipsz/idocs.googie.com/forms/d/1Bux YaK5YJoHFk20Y 4 Yf4ghTdn4xPMF JyhDjCYBeWvbc/edit 913



asoliman2
Typewriter
أنا أقود السياة الآن

asoliman2
Typewriter
هم يغيرون عنوانهم في هذه اللحظة

asoliman2
Typewriter
lunch
ما جمع هذه الكلمة؟

asoliman2
Typewriter
library
ما جمع هذه الكلمة؟

asoliman2
Typewriter
هالة أعطني كتابها

asoliman2
Typewriter
صفة ملكية للبنت

asoliman2
Typewriter
الجمل يحرك ذيله

asoliman2
Typewriter
صفة ملكية لغير عاقل مفرد

asoliman2
Typewriter
المدسرون يشرحون دروسهم

asoliman2
Typewriter
صفة ملكية للجمع سواء عاقل أو غير عاقل


12/8/2018 Practice Test  (0aa3 () sy i sll ) sk ey A 2 aaiana ()5S0 il
61. 62. Anas Is a good . He listens all the time without talking.
Mark only one oval.

) istoner s
() speaker
() listenor
62. 63. The is red. You must stop, <8 53 () caay o) e (il gl 5 Ll
Mark only one oval.
(_ ) lightstop
() light stop
) stoplight s il 5 )Lz

63.64.1 some money inthe past. Ll 8 Jll ey cons

Mark only one oval.
Y
\c.4: 688
'
() eamn

S

(¢~) eamed NETWAS
64. 65, KIA cars are than Mercedes cars, Ui 1o b (e il LS &l
Mark only one oval.
) cheap
) cheapest
(L) cheaper uad )l

65. 66. Leaming English is than learning Russian, sl alad (e Juadl (5 dasy) alas
Mark only one oval.

66. 67. Enas Is than Laila, b 0e SH i)
Mark only one oval,

) intelligent
) most intelligent
(¢ more intelligent S

cloud
67. 68. The plural form of the word * cloud' is o Al o2 pen L

Mark only one oval.
(L] clouds

https://docs.google.comforms/d/1 BbxYaK5YJoHFKZOY4YT4ghTdn4xPMFJyhDjCYBeWvbc/edit 1013



asoliman2
Typewriter
أنس يكون مستمع جيد. هة يستمع طوال الوقت بدون تحدث

asoliman2
Typewriter
مستمع

asoliman2
Typewriter
إضارة التوقف حمراء. يجب أن تتوقف

asoliman2
Typewriter
إضارة التوقف 

asoliman2
Typewriter
كسبت بعض المال في الماضي

asoliman2
Typewriter
كسب

asoliman2
Typewriter
سيارات كيا أرخص من سيارات مرسيدس

asoliman2
Typewriter
أرخص

asoliman2
Typewriter
تعلم الإنجليزي أفضل من تعلم الروسي

asoliman2
Typewriter
أفضل

asoliman2
Typewriter
إيناس أذكى من ليلى

asoliman2
Typewriter
أذكى

asoliman2
Typewriter
cloud
ما جمع هذه الكلمة


12/8/2018 Practice Test

68. 89. | do not fike foods. inaall ikl Coal Y
Mark only one oval.

O mt
Q faty

() fatty

69. 70. My brother always taks e Gigeay oy Lily A
Mark only one oval.

O loud

(¢ budly Je &spa

O loudli

70. 71. ANl my friends to the party yesterday. ol diall ) JBaal sues sla
Mark only one oval.

~ ) comes

) come

(¢ came s

71.72. Hamzah likes to save o258l AN f s s e
Mark only one oval.
(¢~) monay 2 il

) cards

) music
72, 73. The birds south now, 0¥ Lsis i ) bl
Mark only one oval.

) fy
O flaw

() areflying

choose
73.74.1'hopasthnsoofthovarb'choou'is__, Jadll 138 e (aalall L
Mark only one oval. )
(") choose

() choosed

74.75. What Is the correct compound word? Sl =S all au¥) o8 Lo
Mark only one oval.
) lightsun
) workhome

(¢~) roommate 4l Jae )

httpsz//docs google.comAorms/d/1 BbxYaK5YJoHFk20Y4YT4ghTdn4xPMF JyhDJCYBeWvbc/edit 11/13



asoliman2
Typewriter
لا أحب الأطعمة الدهنية

asoliman2
Typewriter
دهني

asoliman2
Typewriter
أخي دائماً يتحدث بصوت عالِ

asoliman2
Typewriter
بصوت عال

asoliman2
Typewriter
جاء جميع أصدقائي  إلى الحفل أمس

asoliman2
Typewriter
جاء

asoliman2
Typewriter
حمزة يحب أن يدخر النقود

asoliman2
Typewriter
النقود

asoliman2
Typewriter
الطيور تطير جنوباً الآن

asoliman2
Typewriter
choose
ما الماضي من هذا الفعل

asoliman2
Typewriter
ما هو الاسم المركب الصحيح؟

asoliman2
Typewriter
زميل الغرفة


12/8/2018
75. 78, You see in the mirror.
Mark only one oval.

(¢~) yourself EINES]
() themselves

'a

() himself

76. 77. | tajk to
Mark only one oval.

(O herseif

(O ourseives

77.78.Who is the
Mark only one oval.

(_) young
(_) younger ‘
() youngest =l

78. 79. Who walks the
Mark only one oval.

O w
O s

79, 80 . This house Is the
Mark only one oval.
() bad
() worse
(L) worst

i

80, 81, This movie Is the
Mark only one oval.

() boring
(") more boring
(L) most boring Sas i

81. 82. BMW cars are the most
Mark only one oval,

(¢ powerful 55

() more powerful
() most powerful

https//docs. google.comforma/d/1Bbx YaK5YjoHFk20Y4YfaghTdn4xPMF JyhDJCYBeWvbciadit

sometimes.

to come here?

Practice Test
3l pall b el 5 53

Glal i ) Gaaasl

bay in the group? 4c sexall 8 a5 yual @ (e

Sl o aall anyl iy 53 (e

house In the world. All=ll 8 1 51 s il 18

movie | have ever watched, U (1« Leil ) il dleall 23EY) ST oo aLall 138
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asoliman2
Typewriter
أنت ترى نفسك في المرآة

asoliman2
Typewriter
نفسك

asoliman2
Typewriter
أتحدث إلى نفسي أحياناً

asoliman2
Typewriter
نفسي

asoliman2
Typewriter
من هو أصغر ولد في المجموعة

asoliman2
Typewriter
أصغر

asoliman2
Typewriter
من الذي يمشي أبعد للمجيء هنا؟

asoliman2
Typewriter
أبعد

asoliman2
Typewriter
هذا المنزل هو الأسوأ في العالم

asoliman2
Typewriter
أسوأ

asoliman2
Typewriter
هذا الفيلم هو أكثر الأفلام المملة التي رأيتها من قبل

asoliman2
Typewriter
أكثر مملاً

asoliman2
Typewriter
سيارات بي إم دبليو هي الأقوى في العالم

asoliman2
Typewriter
قوي


12/8/2018 Praciice Test

82. 83. | cannot drink this juice because it is o i) aaed) 13 il o ekt Y
Mark only one oval.

() freeze
(D freezes

83. 84. To make salad, you need to the vegetables, s i) Llas i #liad dhalull Jaal
Mark only one oval.
@ mix
() mixed
() mixture

A

84. 85, Salem usually his teeth in the momning. cloall o aslind i sale Al
Mark only one oval.

{:)bmsh

() brushed
-:'\_E?T_J brushes
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asoliman2
Typewriter
لا أستطيع أن أشرب هذا العصير المثلج

asoliman2
Typewriter
مثلج

asoliman2
Typewriter
لعمل السلطة، تحتاج أن تخلط الخضروات

asoliman2
Typewriter
سالم عادة يفرش أسنانه في الصباح


daliila & JudM aladl Jadll Irregular Verbs

Verb ( 1) Verb ( 2)

Cut e~ Cut

' Put re Put
Read \ » read
Send >—L Sent
Spend O3 - e Spent
Buy > iy Gl Bought
Bring res Brought
Think P - oisas Thought
Catch A hc~slbey Caught
Teach B taught
Sleep e\ Slept
Keep Lars Kept
Feel Pt Felt
Meet R AT] Met

| Feed e TIPS ¥} Fed
Choose » \oas chose
Swim n—- Swam
Drink — Drank
Begin N e Began
Give o Gave

' Run RS o —a ran
Become 2t Became
Come et Came
Fly re) Flew
Grow por s Grew
Know &y Knew

| Drive > sas Drove
Find > Found
Forget Ursend, Forgot
Get s yes Got
Win ~ 340 Won
Write T Wrote
Speak o v Spoke

| Break i broke
Understand - e Understood
Lose s Lost




daliiia & Jadd alall Jaill Irregular Verbs

Leave —A - ,3\ey Left
See i o Saw
Go L Went
Tell L Told
Sell L~ Sold
Eat Jt;: v Ate
Do Qe Did
Have et I Had
Hear K Heard
Make e Made
Take o L Took
Pay QL) e Paid
Be e 5 Was( sing.) /were ( plur.)






